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QUESTION 1

Your customer wants to override the calculated tax line amount for their receivable transaction. What steps should the
customer perform to ensure that only one of their employees has this privilege? 

A. Enable "Allow override of calculated tax lines" within the tax configuration owner options for the receivable invoice
event and grant the employee the "Tax Manager " data role. 

B. Enable the "Allow tax rate override" and "Allow manual tax lines" profiles at the user level, set, the value to Yes for
the selected employee, and grant the "Tax Manager " data role to the employee. 

C. Enable "Allow override of calculated tax lines" within the tax configuration owner options for the receivable invoice
event and set the "Transaction Tax Line Override" profile option to Yes for the selected employee. 

D. Set the "Transaction Tax Line Override" profile option to Yes for the selected employee and assign the employee the
"Tax Manager " data role. 

E. Enable "Allow override of calculated tax lines" within the tax configuration owner options for the receivable application
and create a tax rule to grant this privilege only to the selected employee. 

Correct Answer: D 

 

QUESTION 2

Identify a valid reason for a Collector being unable to enter a dispute against a particular transaction. 

A. The invoice is not closed. 

B. The transaction is partially paid. 

C. The transaction type is not associated with a credit memo type. 

D. The transaction date falls in a closed period. 

E. The transaction is an invoice. 

Correct Answer: C 

 

QUESTION 3

Which two statements are true about processing Receivables adjustments that impact tax amounts? 

A. Receivables can look at invoice and retrieve the tax rate code. 

B. There is no need to retrieve the tax rate code. 

C. Receivables can look at the adjustment activity and retrieve the tax rate code. 

D. Receivables can look at System Options and retrieve the tax rate code. 

Correct Answer: AD 
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QUESTION 4

Your customer has three business units. The customer wants to share customer account addresses 

across these business units. 

Which reference data set can be used to achieve this? 

A. Create a new reference data set for account addresses and assign it to the business units. 

B. Assign a COMMON reference data set to the business units, which share the account addresses. 

C. Assign an enterprise reference data set to the business units, which share the account addresses. 

D. Create a separate reference data set for each business unit and assign it to each unit. 

Correct Answer: B 

 

QUESTION 5

What are the three seeded contract configuration rules that Revenue Management provides to automatically create
contracts? (Choose three.) 

A. by Quote Number and time frame 

B. by Source Document and time frame 

C. by Item and time frame 

D. by Customer and time frame 

E. by Source Document Line andtime frame 

Correct Answer: BCE 
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